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QUESTION 1

Which of these is an example of correct pronoun-antecedent agreement? 

A. A person must be truly dedicated to change a habit. It must work hard to overcome obstacles. 

B. The movie was long and boring. He took too long to bring the story to a close. 

C. Johnny Depp is frequently considered to be a superb actor. He is perhaps best known for his role as Captain Jack
Sparrow. 

D. The boat was large and imposing. She boasted a deep blue exterior. 

Correct Answer: C 

 

QUESTION 2

"I sighed heavily, letting my head fall against the window." 

Which of these sentences effectively changes this sentence from first person to third person point of view? 

A. She sighed heavily as your head fell against the window. 

B. I sighed, allowing Amber to bang her head against the rain-spattered window. 

C. You sighed heavily, your head falling forward against the window. 

D. Amber sighed heavily, allowing her head to fall forward, against the rain-spattered window. 

Correct Answer: D 

 

QUESTION 3

In recognizing the onset of mounting fury and making an honest attempt to slow down, you automatically give yourself
the opportunity to choosing an appropriate reaction other than an anger outburst. 

A. in recognizing the onset of mounting fury and making an honest attempt to slow down, you automatically give
yourself 

B. on recognizing the onset of mounting fury and making an honest attempt to slow down, you automatically give
yourself 

C. for recognizing the onset of mounting fury and making an honest attempt to slow down, you automatically give
yourself 

D. by recognizing the onset of mounting fury and making an honest attempt to slow down, you automatically give
yourself 

E. with recognizing the onset of mounting fury and making an honest attempt to slow down, you automatically give
yourself 
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Correct Answer: D 

 

QUESTION 4

Today, there are myriad ways to communicate with employees: newsletters; email; voice mail; video conferencing;
blogs; power luncheons; walking around; grapevine power; of course, and, meetings. 

A. power luncheons; walking around; grapevine power; of course, and. meetings. 

B. power luncheons; walking around; grapevine power; and, of course, meetings. 

C. power luncheons; walking around; and grapevine power; of course, meetings. 

D. power luncheons; and, walking around; grapevine power; of course, meetings. 

E. power luncheons; and walking around; grapevine power and, of course, meetings. 

Correct Answer: B 

 

QUESTION 5

Read the paragraph and choose the appropriate word to fill in the blank. 

"The student government couldn\\'t decide on the best theme for prom this year. There were differing schools of thought.
Many of the governing members thought a classic theme featuring music from decades gone by would be a nice way to
remember the past. __________, others thought a more modern approach 

with trendy music would be more popular." 

A. alternatively 

B. nevertheless 

C. and 

D. also 

Correct Answer: A 

 

QUESTION 6

Which of these sentences is punctuated correctly? 

A. Andrea called her mom, ecstatic to tell her, she was graduating the next May. 

B. Amanda, River, and Doug went camping this weekend. 

C. Adam bought his girlfriend a snake, for her birthday; Molly didn\\'t know what to get her boyfriend for Christmas. 

D. Carlos Cindy and Eleanor, forgot to go to the zoo. 
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Correct Answer: B 

 

QUESTION 7

Our name, which has become a legend among the students for the highest standards in teaching, and hence has been
copied by a lot of people across nation, for no one can match our quality. 

A. across nation, for no one can match our quality. 

B. across nation, no one can match our quality. 

C. across nation, but no one can match our quality. 

D. across nation and no one can match our quality. 

E. across neither nation, nor no one can match our quality. 

Correct Answer: C 

This sentence has an error by using an inappropriate conjunction (for) while two contrast ideas are 

spoken. 

When contrast statements take place the conjunction should help them to differentiate each other as in the 

option "across nation, but no one can match our quality" the conjunction (but) does. 

Other options use inappropriate conjunctions such as for/and/nor. 

 

QUESTION 8

Which of these pairs of words requires a hyphen when the words are joined? 

A. life like 

B. grand mother 

C. first rate 

D. world wide 

Correct Answer: C 

 

QUESTION 9

"Ousley waited in his car for work to begin." 

What function does the word in serve in this sentence? 

A. object 
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B. subject 

C. verb 

D. preposition 

Correct Answer: D 

 

QUESTION 10

Which of these words is misspelled? 

A. separate 

B. conceivable 

C. desparate 

D. laboratory 

Correct Answer: C 

 

QUESTION 11

Companies often overlook the fact that their success lay in the happiness of their employees. 

A. that their success lies in the happiness of 

B. that their success laid in the happiness of 

C. that their success will lay in the happiness of 

D. that their success lays in the happiness of 

E. that their success lying in the happiness of 

Correct Answer: D 

 

QUESTION 12

Which of these is correct, with regard to structure, grammar, and spelling? 

A. From a search of the police records in adjacent communities, in which the suspect\\'s name and all known aliases
were entered. 

B. According to the suspect\\'s record, procured from police files, he had less traffic tickets in California than he did in
several other states. 

C. The investigators stated that the suspect had never violated a criminal law, but they reported a plethora of
outstanding traffic tickets on his record. 
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D. While the suspect did not have a criminal record on file, there was some indications of minor offenses in his past,
such as traffic violations. 

Correct Answer: C 

 

QUESTION 13

"The soccer team ate the pizzas as if they were starving to death." Read this sentence and identify the subject and
object, respectively. 

A. soccer team; ate 

B. soccer team; pizzas 

C. ate; starving 

D. ate; pizzas 

Correct Answer: B 

 

QUESTION 14

"Theodore intended to drive his car all night __ however __ he forgot to fill up his gas tank." 

Which punctuation marks correctly complete this sentence? 

A. : and ; 

B. , and , 

C. ; and , 

D. ; and . 

Correct Answer: C 

 

QUESTION 15

What is the best definition for the word circumnavigate? 

A. to give navigational instructions 

B. to avoid travelling 

C. to change your circumstances 

D. to sail around something 

Correct Answer: D 
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